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1. 208 T3 &$9%00:508. tan(d — 147)

o Watch Video Solution

2.308 a3 H89580508. cot (21% — 0)

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_9sPwchJC4kQX
https://dl.doubtnut.com/l/_i6NaHzaSWoAe

3.308 3°¢3Q &89580:508. cos ec(5m + 6)

o Watch Video Solution

4.308 3e30 H§9500508. sec(4m — 6)

o Watch Video Solution

5.308 a¢3 denIOD 3n$)od.sin( — 405°)

o Watch Video Solution

6.208 363 QeVIOD §<¥1)§‘2}0c39. cos( — 7%)

o Watch Video Solution

7.808 363 DenHO 3808)0%. sec(2100°)


https://dl.doubtnut.com/l/_qvWLnV6cb6t7
https://dl.doubtnut.com/l/_SHVB7T1dbzZo
https://dl.doubtnut.com/l/_ozYB3oOuSwA7
https://dl.doubtnut.com/l/_KkacHootMXPE
https://dl.doubtnut.com/l/_f11NkFNgfTUL

° Watch Video Solution

8.508 °¢3 dended $&0%)0d. cot( — 315°)

° Watch Video Solution

9.208 763 Hie30350%. cos? 45° + cos? 135° 4 cos? 225° + cos® 315°

° Watch Video Solution

10. 208 5063 Ke3030%. sin? 2% + cos? 5% — tan® 3%

° Watch Video Solution

11. 208 330639 5e305085. cos 225° — sin225° + tan495° — cot 495°

° Watch Video Solution



https://dl.doubtnut.com/l/_f11NkFNgfTUL
https://dl.doubtnut.com/l/_SMgMh2nhHuH1
https://dl.doubtnut.com/l/_vyeURqmHqv6e
https://dl.doubtnut.com/l/_n566ZC1A5E3y
https://dl.doubtnut.com/l/_yPRRQs7Jr3Av
https://dl.doubtnut.com/l/_ucb6QVryk6f6

12. 208 a3 ffedocsod. 6 = 7%@0)3&@036.‘93 (cos § — sin @) eV

° Watch Video Solution

13. 208 3D Ke30305. 6 = 11% (cos theta - sin

theta)’ Qend

° Watch Video Solution

1
14. $00 050 JecsoeS” B, sinh = — 3 @900 a) cosf b) cot #®

QOS5 EHT0S.

° Watch Video Solution

15. $230 02,565 °c5065° Bk, cos = ¢(0 < ¢ < 1) 900 a) sin § b) tan o

DEVSOD §<ﬁ)‘§‘2}0&.

° Watch Video Solution



https://dl.doubtnut.com/l/_ucb6QVryk6f6
https://dl.doubtnut.com/l/_pdmDZHUIHnp8
https://dl.doubtnut.com/l/_L5cGsXMvLzEa
https://dl.doubtnut.com/l/_tzqvU6CT2iRh

16.5in330° - cos 120° 4+ cos 210° - sin 300° eSS §c63‘§62)0(?9.

° Watch Video Solution

1
17. cosect + cot O = 5690))3, cos 0D §<ﬁ)‘§’2}&) 09 %05 «od

&g@ozfoo&.

° Watch Video Solution

18. sina +coseca =2, n € Z eond sin"a + cosec’a DN

§<ﬁ)‘§‘&od‘g.

° Watch Video Solution

19. secf + tanf = 5 e900B, 0 &0 ), sech — tanfh eNHD

§<ﬁ)‘§‘&od‘g.

e I


https://dl.doubtnut.com/l/_tzqvU6CT2iRh
https://dl.doubtnut.com/l/_PEJFVO2Wnh2N
https://dl.doubtnut.com/l/_AUzVWl1uZa8C
https://dl.doubtnut.com/l/_vmWhl6Hd6m5D
https://dl.doubtnut.com/l/_x3PFmTPfKEJp

| ¥ vvatch video sSolution

20. ol 39 QABTDOH08.

cos(m — A)cot(% + A)cos( —A)

=cos A

tan(m + A)tan(37 /2 + A)sin(2r — A)

o Watch Video Solution
21. 308 339 QBFN0N08.

sin(3m — A)cos (A — %)tan(37r/2 — A)

= —cos*A

cosec(13m /2 + A)sec(3m + A)cot <A — %)

o Watch Video Solution
22. 308 3D QBFN0N08.

1
sin 780° - sin480° + cos 240° - cos 300° = 3

o Watch Video Solution



https://dl.doubtnut.com/l/_x3PFmTPfKEJp
https://dl.doubtnut.com/l/_JZ017g83mIe9
https://dl.doubtnut.com/l/_1WnGe9am3iTD
https://dl.doubtnut.com/l/_oawX5gkpGTsx
https://dl.doubtnut.com/l/_2B1dKnvklnmn

23,208 PE3D AEFDHOS08, S 150° — 5cos 300° + Ttan 225 _ 9

tan135° + 3sin210°

° Watch Video Solution

24.Show that

3 5% i O

T
cot. 2—0 cot. 2—0 cot. 2—0 cot. 2—0 cot. 2—0 =1

o Watch Video Solution

sin( — 11%)tan(35%)sec( — 7%)
cot (5%)cos ec(7%)cos (17%)

o Watch Video Solution

25, & HX§9880506.

tan610° + tan700°

26. tan20° = p OB, O O
tan 560~ — tan470

=1-p*/1+p @

PN0K.

° Watch Video Solution



https://dl.doubtnut.com/l/_2B1dKnvklnmn
https://dl.doubtnut.com/l/_cuWWGkMFoRM6
https://dl.doubtnut.com/l/_JlhtXm2paQLD
https://dl.doubtnut.com/l/_0oe0aGC4TxVb
https://dl.doubtnut.com/l/_3yNuce6XjONq

27. o, Ben % Sreew, bsina = a @0, (sina cos B — cos asin B)

VB 3803)08.

o Watch Video Solution

28. A 808 %08 B w0, B e rGoS 89 S0,

1 4sinB — 3tan A
cos A = cos B= — — e901e, Sin .a,n 29 AP HOG.
2 tan B + sin A

° Watch Video Solution

29. Seeen A, Bew 45 oS B, 8tanA = — 15 25sinB = — 7
€9020e3, sin A cos B + cos AsinB = — % 09 APD0G.

° Watch Video Solution

30. A B, C Do 2af S8ad S0 Teren 90N,

sinA —sinC =sinD — sin B

| o |


https://dl.doubtnut.com/l/_3yNuce6XjONq
https://dl.doubtnut.com/l/_yoZI4REvbN8w
https://dl.doubtnut.com/l/_1fJDpIR1Byxg
https://dl.doubtnut.com/l/_Vejj6nSUyqFu

I & Watch Video Solution ]

3. A B C D 2% SEoh Sddmo FTeren  eand,

cosa + cos B + cos C + cos D = 0099 5006,

o Watch Video Solution

32.acosf — bsinf = ¢ ©0NB, asinh + bcosd = + \/a2 + 5 — & od

SPDOG.

o Watch Video Solution

33.3sin A + 5cos A = 59003, 5sin A — 3cos A = =+ 309D D0,

o Watch Video Solution

34.tan’ 6 = (1 — 62) €903, ‘sec theta +tan”(3) theta *cosec theta =(2 -

e™N(2))(3/2) 9 APHOG.


https://dl.doubtnut.com/l/_Vejj6nSUyqFu
https://dl.doubtnut.com/l/_gc3gsGiHeXGI
https://dl.doubtnut.com/l/_ZykCXOzyPhma
https://dl.doubtnut.com/l/_Cd0tfkiZQrIa
https://dl.doubtnut.com/l/_MpS9GC9qLVy2

° Watch Video Solution

tan @ -1 1 in@
35,200 7630 AUPDO[0B. —m + sec _ 1 s
tanf@ — secf + 1 cos 0

° Watch Video Solution

36. 308 73D ABr0N0H.(1 + cot @ — cos ech)(1 + tanf + sech) = 2

° Watch Video Solution

37. 208 3D QBFN0N0.

3(sinf — cos 9)4 + 6(siné + cos 9)2 + 4(sin6 6 + cos® f) =13

° Watch Video Solution

38. 208 3D QBFN0N0.

(sinf + cos ech)’ + (cos 6 + sech)” — (tan®@ + cot®6) =7



https://dl.doubtnut.com/l/_MpS9GC9qLVy2
https://dl.doubtnut.com/l/_ekEHkGkX5WV3
https://dl.doubtnut.com/l/_EQwziLbhPAHt
https://dl.doubtnut.com/l/_UheCac4t8apr
https://dl.doubtnut.com/l/_dTqkVXj5200v

| ° Watch Video Solution

39. 208 3D QBFN0N0.

1
(cos4a + 2cos® a [1 — 1 — 1 — sin? a)

sec? o

o Watch Video Solution

(1+ sin® — cos )?

40.308 °¢3Q AEN0H0R. =1-—cosf/1+ cosf

(1+ sin® + cos §)?

° Watch Video Solution

in6
41. 208 63 AEPD0H08. | 2 St —— = 2 |01,
1+ cos@ + sinf

1 — cos@ + sinf

: 05 3808)08.
1+ sin@

o Watch Video Solution

42.200 ¢3S 05 S20H $0%08. i) £ = acos® 0, Yy = bsin® 0


https://dl.doubtnut.com/l/_dTqkVXj5200v
https://dl.doubtnut.com/l/_recJIvmy79Gb
https://dl.doubtnut.com/l/_w5FT0zFvrvkb
https://dl.doubtnut.com/l/_3qydKJVahF9j
https://dl.doubtnut.com/l/_1BdMUyETk6fi

° Watch Video Solution

43.308 ¢35 0 20D SoHoR.i) z = acos? O,y = bsin* §

° Watch Video Solution

44. %08 8BS 6 SHoH Iahod. i) z = a(sech + tandh),

y = b(sech — tanb)

° Watch Video Solution

45,308 e3¢5 e S0 F0908.1) = = cot 6 + tanh,y = secd — cos b

° Watch Video Solution

46.308 PSP e95gaPen 308)0d. cos(3z + 5) + 7

° Watch Video Solution



https://dl.doubtnut.com/l/_1BdMUyETk6fi
https://dl.doubtnut.com/l/_GVmdekfu7tfP
https://dl.doubtnut.com/l/_1DY0TwwcdPAO
https://dl.doubtnut.com/l/_GuFgo1hVljO1
https://dl.doubtnut.com/l/_sJF4GDubFx37

47.300 DD AFOD eSgreD 380%)08. tan 5z

° Watch Video Solution

4z +9
48.808 HFH0TFOH eSGTED $HE0B. <M>

5

° Watch Video Solution

49,308 PDOTPOL e5garen 308)0d. tan(z + 4z + 9z + ... + n’z

° Watch Video Solution

2
50. 55480 = T 0 258 sin HDoKre) §608)06.

° Watch Video Solution



https://dl.doubtnut.com/l/_sJF4GDubFx37
https://dl.doubtnut.com/l/_dQPlQl6PVJeg
https://dl.doubtnut.com/l/_t0ejDe6ihbDe
https://dl.doubtnut.com/l/_CEJjM8u3r83f
https://dl.doubtnut.com/l/_CgsTHkKsLT1m

51. 8935850 7 TP 150> 28 cos aDAIPY) 36080k

o Watch Video Solution

52. Sketch the graph of cos 2z in the intervals |0, 7]

o Watch Video Solution

53.[0, 7] 03808 y = sinz, y = cos z, X - 9O 30635 3°tfo.

o Watch Video Solution

54. 308 ae3 H°§98580506. i) cos 100° - cos 40° + sin100° - sin40°

o Watch Video Solution

cot 55°cot 35° — 1
cot 55° + cot 35°

55. 308 3¢3Q &0%89¥80:5083. ii)


https://dl.doubtnut.com/l/_O48wpPgT5P12
https://dl.doubtnut.com/l/_UsiwoM2TlrR8
https://dl.doubtnut.com/l/_xKNT89N0JPoo
https://dl.doubtnut.com/l/_5L4PoBmGD1jB
https://dl.doubtnut.com/l/_NlK26KkoOZvW

° Watch Video Solution

56.208 50630 Ar5¢80:506. i) (ta,n(% + 0) : (tan(% - 0)

° Watch Video Solution

57.308 a3 H8988050¢%. iv) (tan75° + cot 75°)

° Watch Video Solution

58.808 ¢3Q &3%89580:508. iv) (sin 1140° cos 390° — cos 780° sin 750° )

° Watch Video Solution

50, v/3cos 25° + sin 25°

5 &0 sin e Sea0mP TP0H0H.

o Watch Video Solution



https://dl.doubtnut.com/l/_NlK26KkoOZvW
https://dl.doubtnut.com/l/_uECuZSqqS1Sn
https://dl.doubtnut.com/l/_fVmz6yUgvJFu
https://dl.doubtnut.com/l/_seNhUzanvCYT
https://dl.doubtnut.com/l/_QAL0Ow4pqq8q

60. (cos 6 — sin #)&d cos € e S0P T°OHOBD.

o Watch Video Solution

61.5in(0 4+ a) = cos(f + a) 900, tan A tan a DS T0HOE.

o Watch Video Solution

62. tanfh = —> 11 +sinll 0 S°S Ps0eS” B $ea0 9ond A

cos11° —sin11°”’

§<§)§‘&o&9.

o Watch Video Solution

5 4
63. 0° <A, B<90°, cosA = 3 sin B = 5 @003 sin(A — B)

VI 388)00.

o Watch Video Solution



https://dl.doubtnut.com/l/_82lDqNfUaCPB
https://dl.doubtnut.com/l/_QXASeALdLtFd
https://dl.doubtnut.com/l/_KAjn8jJemwlS
https://dl.doubtnut.com/l/_kgss4Dn10ZFM
https://dl.doubtnut.com/l/_5tQrmQoO5534

64.tan20° + tan40° + /3tan20° tan40° JeNas 3)0A.

o Watch Video Solution

65.tan56° — tan11° — tan56°tan11° NeNdD §c‘\’1)'§6&0<5.

o Watch Video Solution

66. cos A,cos B, cos Co’ o &§&63 “&JRSZ) 50853,
in(A + B)sin(A — B
yoonld t Blsinld 2 B) o oo,
cos? A cos? B
° Watch Video Solution
sin(C — A)
67. Asin B, Cos 9 2%)es ¥5e3, -
sin A,sin sinCo® 20 2) cOJR)'a ¢ Z osCsinA

Ke3050¢%.

° Watch Video Solution



https://dl.doubtnut.com/l/_5tQrmQoO5534
https://dl.doubtnut.com/l/_zy1okH2PQN9z
https://dl.doubtnut.com/l/_EreVb87TAAGQ
https://dl.doubtnut.com/l/_YJezJVceCBet
https://dl.doubtnut.com/l/_5N39bjcdMbjZ

68. 308 3°¢3Q ABFN0:508.(cos 35° + cos 85° + cos 155° = 0

° Watch Video Solution

69. 308 F°¢3Q ABFN0508.(tan 72° = tan 18° + 2tan 54°)

° Watch Video Solution

70. ol 39 QBFN0N0.

1
<sin 750° cos 480° + cos 120° cos 60° = — 5

° Watch Video Solution

71.308 °e3d &’)driaoéo&.(cos A + cos (4% — A) + cos(4m /3 + A)

° Watch Video Solution



https://dl.doubtnut.com/l/_5N39bjcdMbjZ
https://dl.doubtnut.com/l/_NhxJlJlPik4R
https://dl.doubtnut.com/l/_wecY861XJS9a
https://dl.doubtnut.com/l/_VvFNad8v6RfF

72. 208 3D QABTDOH 0.

3
<cos2 6 4 cos*(2m /3 + 6) + cos*(21 /3 — 6) = 3

° Watch Video Solution

73.208 €3 ffedocsod. <sin2 82 (%) — sin’ 22 (%) >

o Watch Video Solution

74.308 °¢3Q e3050¢%. (cos2 112 (%) — sin%52 (%) )

° Watch Video Solution

75.308 °¢3d tie3050¢6%. <sin2 (w/8 + %) — sin? <7r/8 — %))

° Watch Video Solution



https://dl.doubtnut.com/l/_tAuIaYmRSm6P
https://dl.doubtnut.com/l/_fS49urkLhIN8
https://dl.doubtnut.com/l/_CZiwUjzBQRZ4
https://dl.doubtnut.com/l/_bruTBipTiai1
https://dl.doubtnut.com/l/_TiVQN5PIkpE9

76.208 °e3Q 11e30508. <cos2 52 (%) — sin% 22 (%) )

o Watch Video Solution

77.300 ¢33 395, 1103 denaen 800, Bcos z + 4sina

o Watch Video Solution

78.300 ¢33 393, 1103 Denden 3080, sin 2z — cos 2z

o Watch Video Solution

79.300 38 ) §<6)’§‘2}0&. Tcosxz — 24sinx + 5

o Watch Video Solution

80.300 ¢33 e 308)08. 13cos z + 3,/3sinz — 4

Y.


https://dl.doubtnut.com/l/_TiVQN5PIkpE9
https://dl.doubtnut.com/l/_HLhabRYPVcbr
https://dl.doubtnut.com/l/_FvKZQbdXRN5S
https://dl.doubtnut.com/l/_PXXycgNhSlR8
https://dl.doubtnut.com/l/_OzyQtac7zCYz

| ¥ Vvatch Video Solution |

81 T 0 T B 3 . B
.oy <a<m, <ﬂ<2, cosa = — ¢ sinf =

tan(a + ) and sin(a + 8) © dewden EHT0E.

5 90003

° Watch Video Solution

24 4
82. 0<A<B<%, sin(A+B):%, cos(A—B):g €900

tan 24 Qended EHSod.

° Watch Video Solution

24 3
8. A+ B, A e onw Stren @& sin(A + B) = o5 tand = 7

€9000a3 cos B ended s‘cﬁ)‘é‘zjocfg.

° Watch Video Solution



https://dl.doubtnut.com/l/_OzyQtac7zCYz
https://dl.doubtnut.com/l/_4oQUsXw0d75p
https://dl.doubtnut.com/l/_9DOaY0DahfG1
https://dl.doubtnut.com/l/_XSYqOIHKGTJr

3|+

1
84.tana — tan 3 = m, cot a — cot B = nevsowd cot(a — B) = —
m

29 PO

o Watch Video Solution

85. a,Be0 DG oS Srrew, tan(a — B) = 2—74 tana = g 900,

o+ B = %ea&aﬁréo&g.

o Watch Video Solution

86.sin(A + B — C) 830 50%)08.

o Watch Video Solution

87.cos(A — B — C) 880 50%)08.

o Watch Video Solution



https://dl.doubtnut.com/l/_EIeCswqWpgk4
https://dl.doubtnut.com/l/_uRWHotpszXFM
https://dl.doubtnut.com/l/_ZBq30pGMACWp
https://dl.doubtnut.com/l/_oGDEXlYQXY08
https://dl.doubtnut.com/l/_W8QDPKXpY8wW

3 5 16
88. A\ ABCS A (HtH%e90, sin A = 5 sin B = = 900, sin C' = e

29 PO

° Watch Video Solution

sin(fa +8)  a+b
“sinfa—B8) a-—b

9003, a tan S = btan a 9 IPDOG.

° Watch Video Solution

90. A — B = 31 /4,09008 (1 — tan A)(1 + tan B) = 2 €9 <SPR0G.

° Watch Video Solution

ol. A+B+C’:%,

cot A + cot B + cot C = cot A cot B cot Ce9d APH0c.

A B C of 9 a>§2)e§ %g 232 hedzo DG

° Watch Video Solution



https://dl.doubtnut.com/l/_W8QDPKXpY8wW
https://dl.doubtnut.com/l/_iYuwybIxQVfu
https://dl.doubtnut.com/l/_kW39AQoCUyXd
https://dl.doubtnut.com/l/_MClX5EBIMCBn
https://dl.doubtnut.com/l/_cC2gw4clzWV5

92. A+B+C’:%,

A B, C oF 9 zﬁzjeg %g 232 hedxo DG

tanAtan B + tanBtanC + tanCtan A = 1 d 5P, o oD

cos(B + C)

S B EG) ) esarbod.
cos Bcos C

° Watch Video Solution

93. sin’a + cos®(a + B) + 2sinasin B cos(a + B)

EITPENAAAD I°D0C.

993&04:.9

° Watch Video Solution

94. cos?’(a — B) + cos® B — 2cos(a — B)cos a cos B

EITPENAAAD I°D0C.

O30 B D

° Watch Video Solution

95.808 °¢3Q H°§9%80508. sin 20 / 1 + cos 20

(e


https://dl.doubtnut.com/l/_cC2gw4clzWV5
https://dl.doubtnut.com/l/_MluOkXDKp7z0
https://dl.doubtnut.com/l/_lC2C9JcHRc40
https://dl.doubtnut.com/l/_BNzSz0gH7wbd

| ¥ vvatch Video Solution

3cos @ + cos 360

96. 800 °¢3Q H§EB0S50G. —— ,
3sinf — sin 360

° Watch Video Solution

97.208 7¢3Q 15630506, 6sin 20° — 8sin® 20°

° Watch Video Solution

98. 208 3¢3Q 1130506, cos? 72° — sin’ 54°

° Watch Video Solution

99. 208 7°¢3Q 11630506, sin® 42° — sin® 12°

° Watch Video Solution



https://dl.doubtnut.com/l/_BNzSz0gH7wbd
https://dl.doubtnut.com/l/_hl1XzGDCG7V2
https://dl.doubtnut.com/l/_eXcUxOZJeDEL
https://dl.doubtnut.com/l/_XLjPpeAFJIBK
https://dl.doubtnut.com/l/_P43ZZKz7bq9Q
https://dl.doubtnut.com/l/_oNu2xDvB9a3W

100. sin 40 /sin 0 cos® 6, cos 6 HTPOES OO

o Watch Video Solution

101. cos® 4 + sin® A sin 24 Hres TcoHodb.

o Watch Video Solution

1 — cosf + sinf

102.
1+ cos@ + sinf

& tan /2 Here s TrahHod.

° Watch Video Solution

3
103.% <a<msina = 39;90035 cos 3a, tan 2a eSO Ke30B506%.

° Watch Video Solution

3 A
104. % < A < 2mcos A = 2—75 902003 cot <?> eV §<6)§5&06?9.



https://dl.doubtnut.com/l/_oNu2xDvB9a3W
https://dl.doubtnut.com/l/_XdTDaC5vP1ZV
https://dl.doubtnut.com/l/_v5dgYzjDo39C
https://dl.doubtnut.com/l/_cTwZM3C0toJ3
https://dl.doubtnut.com/l/_C1iEbXIsHGX6

I & Watch Video Solution ]

T 0
105. O<0<§ 90003 \/2+\/2—|—\/2—|—2cos49—2cos<§) 9

SN0,

o Watch Video Solution

106.

cos 2z + cos? x

o Watch Video Solution

107.3 sin™(2)x + 5 cos™(2)x ©% e90¢351 DeVHen 5&36&0639. :

o Watch Video Solution



https://dl.doubtnut.com/l/_C1iEbXIsHGX6
https://dl.doubtnut.com/l/_0wRU79XwYSDc
https://dl.doubtnut.com/l/_8AfWOvlxCMc7
https://dl.doubtnut.com/l/_qQdbEL9MvJfq

108. a < cos 6 + 3ﬁsin(9+ %) +6 < b oond a 533 o0, b 10g

DEDVS §<§)‘§‘2)oc‘§.

o Watch Video Solution

109.308 D Are UTreD 360%)06. cos’

o Watch Video Solution

110808 HHAire edsared $808)0%. 2sin(nz /4) + 3 cos(rz /3)

o Watch Video Solution

111.308 H00sre dgaren 3080k, sin® z + 2cos’ z

o Watch Video Solution



https://dl.doubtnut.com/l/_Kvy9BgkgMDvb
https://dl.doubtnut.com/l/_7M6imXnRb78C
https://dl.doubtnut.com/l/_GqDY1tmsyqA6
https://dl.doubtnut.com/l/_NqIKwKyCcZMm

112. 808 H0osre edgaren 3an%)od. 2 sin(% + a:) cos T

° Watch Video Solution

5sinz + 3cos

113. 308 P00sre edgaren 3ok

4s8in2x + 5cos

° Watch Video Solution

1.0 < A < 7 cos A = = eoawid sin 24 cos 24 200 K806,

° Watch Video Solution

3 J—
ns, LA 300 rto wtbgoey po® G0 A devsen

3cot? A — 1
§<63%‘&0(39.

° Watch Video Solution



https://dl.doubtnut.com/l/_AVY9bfXrCZK1
https://dl.doubtnut.com/l/_YylpENUfnADV
https://dl.doubtnut.com/l/_eIeKigvth9IE
https://dl.doubtnut.com/l/_bjuWHy8xWOpj

. cos 3A + sin3A

=1+ 2sin24 9 PN,
cos A —sin A +asin

° Watch Video Solution

2
17. cot(z — 9) = —COS, o 9 WD A OB cot 15° Dendd
4 1 — sin26

0°20600.
(A)]

o Watch Video Solution

4
118.sinf = — 3,08630"6‘55 50652 $ea0 901 cos ec(g), tan(%) 9]

DEVSED §c63'§‘&oé.

° Watch Video Solution

12 0 0
119.450° < 0 < 540°, sinf = T 9003 Sin(?)’ cos <§) ® eV

§c6)%‘&oé.

° Watch Video Solution



https://dl.doubtnut.com/l/_OAz6dS1C5nv1
https://dl.doubtnut.com/l/_urXQHUtdlKrE
https://dl.doubtnut.com/l/_oD4YoS6ungFH
https://dl.doubtnut.com/l/_GNfrNQDtPFfG

1 1 4
= 29Q APHOG.

120. — +
cos 290 v/3sin 250° V3

° Watch Video Solution

121. £08 3D AEFD0S0G, — 24 1-cosd ta,n(é)
1— cos24 cos A 2

o Watch Video Solution

sin 2z sec2x . (:c)
“secr +1 sec2x+1 an\ 3

° Watch Video Solution

cos3 @ — cos 30 sin® 0 + sin 360 B

123.
cos 0 sin @

3

o Watch Video Solution



https://dl.doubtnut.com/l/_GNfrNQDtPFfG
https://dl.doubtnut.com/l/_QMnbvzNXFgOI
https://dl.doubtnut.com/l/_S1PodF6pmTBd
https://dl.doubtnut.com/l/_0qfPbUhJvBej
https://dl.doubtnut.com/l/_4pB5hYd3cBOn

cos 3A
124, cosA = —————— @D P, D N0 cos15° eSS
2cos24 — 1

§é)§‘&o&9.

° Watch Video Solution

in34
125,504 = — 0T 90 S, T 509 sin 15° Denssedd L¥)0s.
1+ 2cos24

° Watch Video Solution

. 2 1 (o)
126. tana = — "0 099 S, D 0D tan15°, tan22( = | ©
1 + cos 2a 2
DENH 38080k

° Watch Video Solution

127.308 ¢339 &dri)od)oc?g.( 1 > — ( V3 ) =4

sin 10° cos 10°

° Watch Video Solution



https://dl.doubtnut.com/l/_1wjSwWc7YbZt
https://dl.doubtnut.com/l/_rhEbHGDkhKQU
https://dl.doubtnut.com/l/_RpOykufzWrZ4
https://dl.doubtnut.com/l/_Rl0A2iNm6mTF

128. 308 F°¢3Q QU006 4/3 cos ec20° — sec20° = 4

o Watch Video Solution

129. 208 °¢3D QBPP0K06G. tan 9° — tan 27° — cot 27° + cot 9° = 4

o Watch Video Solution

sina Cos o

130. 208 e3 AUTDOD0%. — = €9000e3
asin2a 4+ bcos2a = b
o Watch Video Solution
A 5 20
131. A ABC&2H208  tan| — )| = =, tan E = —— @900
= 2 6 2 37

o\ 2 .
ta,n<7> =< 9D APD0C.

o Watch Video Solution



https://dl.doubtnut.com/l/_oOnOh0gp0A4u
https://dl.doubtnut.com/l/_tUA1nbInOs36
https://dl.doubtnut.com/l/_vzMjyHdoJsPN
https://dl.doubtnut.com/l/_RD8iTUtCwD6Y

5 0 0
132. cosf = SRR 270° < 0 < 360° e90nB sin(E), cos<§>8)c‘6)

5630508,

o Watch Video Solution

133. 180° < 6 < 270°, sinf = —% 900023 sin(%), cos(ﬁ)e)cﬁ)

[\

530508,

° Watch Video Solution

3 5
134. cos2(%) + cosz(%r) + cos2(§> + cos? (%) =2 9

SN0,

o Watch Video Solution



https://dl.doubtnut.com/l/_BMQgnvHgEiD5
https://dl.doubtnut.com/l/_1CCGW17hAc0s
https://dl.doubtnut.com/l/_yVmtG3me8FGP
https://dl.doubtnut.com/l/_ssMkt4x7cLtu

° Watch Video Solution

T 2r
136.tanx +ta.n(w + §> —|—tan(m + ?> = 39003 , tan3z = 1 &

SN0,

° Watch Video Solution

LT . 2 . 3 . 4 5 o
137.s1n(g) -sm(T) -sm(?) 'SIII(?) =16 29 ABPDON0G.

° Watch Video Solution

138. (:05.2(1)+cos2 2_7r + cos? 3_71' + cos? 9_71- =2 9
10 5 5 10

SN0,

° Watch Video Solution

1— 8 tan 8
139. 308 3°€3D ABPD0N0G. Secoa _ randa
1 — secda tan 2«



https://dl.doubtnut.com/l/_ssMkt4x7cLtu
https://dl.doubtnut.com/l/_bpyDYKggI1XV
https://dl.doubtnut.com/l/_BVNk7Rxkqx4Z
https://dl.doubtnut.com/l/_cD103AV7M2EL
https://dl.doubtnut.com/l/_zwdB8oZpJHWP

° Watch Video Solution

140. 308 3D QUETN0H0C.
(1 + c<1s07r) (1 + cos 3110) (1 + cos 7110) (1 + cos 9110) = 1_16

° Watch Video Solution

1
141. 208 33 QBTDOB0%. cos 2% . cos 4; - cos 8% =3
° Watch Video Solution
142. 308 3D QBTN 06.
1
C(islw -cos2m /11 - cos3m /11 - cos4m /11 - cos b /11 = 3

° Watch Video Solution



https://dl.doubtnut.com/l/_zwdB8oZpJHWP
https://dl.doubtnut.com/l/_t5woIzzhvSHx
https://dl.doubtnut.com/l/_o8vhqpR7zpwD
https://dl.doubtnut.com/l/_ik2Ld7TnJk5p

3 5
143. oqf00n Seeew, cosa = 5 cos B = - @ond 1.
of O :8 _ 1
sin 5 =5
° Watch Video Solution
. 3 5
144. «,foO0 Copen, cosa = 5 cosf=— s 2.

13

ofa—pBY) 16 ¥
cos< 5 )—%@&)rﬁ?ao&

o Watch Video Solution

145.5in50° — sin70° + sin10° = 009 AEPN0L06%.

o Watch Video Solution

. o o [e] 1
146, 5070 —cosdd 99 ATPDOS0G.

cos 50° — sin20° V3

o Watch Video Solution



https://dl.doubtnut.com/l/_QEL4OhR0Com4
https://dl.doubtnut.com/l/_GSQ6u04g5Il4
https://dl.doubtnut.com/l/_zXG6n3uSB7dh
https://dl.doubtnut.com/l/_tXkS3Sl2ynoN

147.cos 55° + cos 65° + cos 175° = 009 H2xd) BOHOG.

o Watch Video Solution

148.4(cos 66° + sin84°) = /3 + /15 €9 QUTPDOS0G.

o Watch Video Solution

3+1
149. cos 20° cos 40° — sin5°sin25° = \/_4+ 29 25 BOHOG.
° Watch Video Solution
3 5
150. cos 48° - cos 12° = +8\/— 29 AEFN0B0C%.

° Watch Video Solution

151. cos 6 + cos(120 + 6)° + cos(240 + 0)° = 0 9 APNOCs.


https://dl.doubtnut.com/l/_mS0U2vTe6sl5
https://dl.doubtnut.com/l/_wa3YQrXzWL76
https://dl.doubtnut.com/l/_ynPgKAoMKfoc
https://dl.doubtnut.com/l/_K0M6jEcHMUM2
https://dl.doubtnut.com/l/_cGVidg7L5c7P

° Watch Video Solution

1
152.sin?(a — 45°) + sin?(a + 15°) — sin®(a — 15°) = 5 SPD0G.

° Watch Video Solution

. : 1 1 . 3
153. sinz + siny = 7 ST + cosy = geﬂoa)é i) tan(z +y) /2 = 1

29 NP OC.

° Watch Video Solution

: : 1 1 N 7
154. sinz + siny = T COST + Cosy = 5&901)8 ii) cot(z +y) = o

29 NP OC.

° Watch Video Solution

155. 4cos 12° cos 48° cos 72° = cos 36° €9 QBIPD0N0E.



https://dl.doubtnut.com/l/_cGVidg7L5c7P
https://dl.doubtnut.com/l/_60czp58SoOSW
https://dl.doubtnut.com/l/_d5dMQcmDtqYC
https://dl.doubtnut.com/l/_6UrRIPkqRV65
https://dl.doubtnut.com/l/_07MU0ZG5wnJo

| ° Watch Video Solution

156. sin10° 4+ sin20° + sin40° + sin50° = sin70° + sin80°

PD0CS.

° Watch Video Solution

157. sin A = sin B, cos A = cos B @003 A =2nm + B (n € Z) ed

PD0CS.

° Watch Video Solution

158. %, y, Z @0 oo %53:’\) HA&Sen s, sin(y + z — z), sin(z + =z — ),
sin(z 4+ y — 2)© @0%33¢° &0, tanztanytanzen @ 05FOES

GOETPONR PD0CS.

° Watch Video Solution



https://dl.doubtnut.com/l/_07MU0ZG5wnJo
https://dl.doubtnut.com/l/_yB9wDGdx4h3G
https://dl.doubtnut.com/l/_1KuG0mfuxeiE
https://dl.doubtnut.com/l/_neMVhQEQ7ZTB
https://dl.doubtnut.com/l/_nMh2q1Nv5rPG

159. A, A+B en % 232 thederen ) msin B = nsin(24 4+ B) €900

(m +n)tan A = (m — n)tan(A4 + B) e9Q <S°D0¢.

° Watch Video Solution

160. tan(A + B) = Atan(A — B) 9003

(A + 1)sin2B = (X — 1)sin 24 9 S°D0c.

° Watch Video Solution

161. A, B, Cen &bz Stroond, 08 3 Dz mahod. 1.

sin2A4 — sin2B + sin2C = 4 cos A sin B cos C

° Watch Video Solution

162. A, B, Con Rghz Stroond, 08 630 S [ovod. 2.

cos 2A — cos 2B + cos2C = 1 — 4sin A cos BsinC

° Watch Video Solution



https://dl.doubtnut.com/l/_nMh2q1Nv5rPG
https://dl.doubtnut.com/l/_8IBLlZyIxIpI
https://dl.doubtnut.com/l/_swd5qShmari8
https://dl.doubtnut.com/l/_T8oXpzw4bVuS

163. A, B, Cen @3Hz0 Srroond, 08 B3 B BoHod. 1.

sinA + sinB — sinC = 4sin A /2sin B/2cos C' /2

° Watch Video Solution

164. A, B, Ceon 33020 SEroons, 208 630 Hws) BoHod. 2.

cos A+ cosB—cosC = —1+4cosA/2cosB/2sinC /2

° Watch Video Solution

165. A, B, Cen &ghes Sreoonsd, 308 030 Mz maHod. 1.

sin? A + sin®? B — sin®> C = 2sin A sin B cos C

° Watch Video Solution



https://dl.doubtnut.com/l/_T8oXpzw4bVuS
https://dl.doubtnut.com/l/_poaQnTFnKJ9u
https://dl.doubtnut.com/l/_vyVmpSXbBshW
https://dl.doubtnut.com/l/_coj49lnmau1T

166. A, B, Cen Rahz Sroond, 08 630 S [ovod. 2.

cos’ A + cos’ B — cos®’C = 1 — 2sin Asin B cos C

° Watch Video Solution

167. A+ B+ C =m0 @onsd 308 Hdzeen Hzd) DoDok. 1.

cos? A /2 + cos?’B/2 + cos?C /2 = 2(1+sinA /2sin B/2sinC/2)

° Watch Video Solution

168. A+ B+ C =7med ®@oNd 308 Hdween Had) [0Hok. 2.

cos? A /2 + cos?B/2 — cos’C /2 = 2cos A /2cos B/2sinC /2

° Watch Video Solution

169.  ABC  &gbzodS, 208 @ e Hwdy  B000d.

cosA/2+ cosB/2+ cosC/2 = 4cos(m — A) /4dcos(m — B) /4cos(m — C

| e |


https://dl.doubtnut.com/l/_lXPhizfWNxQT
https://dl.doubtnut.com/l/_4JYiUharyTKK
https://dl.doubtnut.com/l/_2XSLVetIFuQy
https://dl.doubtnut.com/l/_1LeYGot8PjHY

l & Watch Video Solution J

170.  ABC  &2bzodS, 208 e  Hwdy  B000d.

cosA/2+ cosB/2—cosC/2=4cos(m+ A) /4cos(m + B) /4cos(m + C

° Watch Video Solution

171. ABC  Qzbzods, %08 @ »e30 D)  S00od.

sinA/2+sinB/2—sinC/2 =1+ 4cos(m — A) /4cos(m — B) /4cos(r -

° Watch Video Solution

172. A+B+C:% €903

cos 24 + cos 2B + cos 2C = 1 + 4sin A sin Bsin C e9Q 3°H06.

° Watch Video Solution



https://dl.doubtnut.com/l/_1LeYGot8PjHY
https://dl.doubtnut.com/l/_iKkUaimJm2ts
https://dl.doubtnut.com/l/_ruPKPchAvXpf
https://dl.doubtnut.com/l/_1dlZJaLrKwF8

173. A+ B+C=31/2 8bzod, 308 30 S [oHod.

cos’ A + cos’ B — cos>C = — 2cos A cos BsinC

° Watch Video Solution

174. A+B+C=231/2 &20z08, 08 030 Sz [oHod.

sin2A4 + sin2B — sin2C = — 4sin A sin B cos C

° Watch Video Solution

175. A+B+C=0 &2Hzos, 208 3 Oy S0Hod.

sin2A4 + sin2B + sin2C = — 4sin Asin BsinC

° Watch Video Solution

176. A+ B+C=0 &0z0d, %08 680 OBy S0005.

sinA 4 sinB —sinC = —4cos A/2cos B/2sinC /2

| e


https://dl.doubtnut.com/l/_9H1pqDJce4Px
https://dl.doubtnut.com/l/_bckWK1KrQFeE
https://dl.doubtnut.com/l/_sAckJATOustr
https://dl.doubtnut.com/l/_cZTCLglFGJW7

l &J Watch Video Solution J

177. A+ B+C+ D =21 ®d , 200 30 Hd Bohod.

sinA —sinB + sinC —sinD = — 4cos(A + B) /2sin(A + C) /2cos(A -

° Watch Video Solution

178. A+ B+C+D=2r ®d , 200 30 Hrd BoHod.

cos 2A + cos 2B + cos 2C + cos 2D = 4 cos(A + B)cos(A + C)cos(A + D

° Watch Video Solution

179. A4+ B+C =25 ®onad , 300 60 D&y T0Hok.

sin(S — A) + sin(S — B) +sinC = 4cos(S — A) /2cos(S — B) /2sinC/

° Watch Video Solution



https://dl.doubtnut.com/l/_cZTCLglFGJW7
https://dl.doubtnut.com/l/_yF9DA2jWOZOx
https://dl.doubtnut.com/l/_mv65HJKif6WO
https://dl.doubtnut.com/l/_nOMTPtZmP8my

180. A+B+C =25 eoad , 308 30 Dy 0Hok.

cos(S — A) +cos(S—B) +cosC = —1+4cos(S— A)/2cos(S— B)/:

o Watch Video Solution

181. 808 DendeD 308)0%. sin 57 /3

o Watch Video Solution

182. 208 HEVHXD §<6)‘§‘2}0&9. tan 855°

o Watch Video Solution

183. 308 Denc 30$)0d. ‘sec(13* pi/3)

o Watch Video Solution



https://dl.doubtnut.com/l/_xohR7nVnMuUa
https://dl.doubtnut.com/l/_zmWpag2S91qO
https://dl.doubtnut.com/l/_34b86E2x35YO
https://dl.doubtnut.com/l/_FFgZLbtp0YcN

184. 308 3 89880508, cot (6 — 137 /2)

o Watch Video Solution

185. 800 a°¢3Q H°89%80:508. tan( — 23 /3)

o Watch Video Solution

186.  sin’7 /10 4 sin? 47 /10 + sin® 67 /10 4 sin? 97 /10 DS

§<¥D§"2}0&9.

o Watch Video Solution

4

187.sinf =
sin 3

, B F05e3 Fcs0eS” BID% cos 6 Dendy 3080

o Watch Video Solution



https://dl.doubtnut.com/l/_vaHD2ZdKb45d
https://dl.doubtnut.com/l/_eMvKQlDYEG7F
https://dl.doubtnut.com/l/_ChjKP1DneL28
https://dl.doubtnut.com/l/_rBkThZe3mbU2

2
188. secl + tanf = 3 90003, sin BAENSD §<6)‘§'25&’). 0 9 oS

&0e008 Ké)ﬁ}jo&.

o Watch Video Solution

189. cot 7 /16 - cot 2w /16 - cot 37w / 16....... cot 7Tm /16 = 1 (O]

QBTN 0.

o Watch Video Solution

190.3sinf + 4cos @ = 5 €900 4sinf — 3 cos § NS §c63§306‘§.

o Watch Video Solution

191. cos @ + sin@ = /2 cos § e9003 cos @ — sinf = 1/25in f 9 SPDOCs.

o Watch Video Solution



https://dl.doubtnut.com/l/_fDRnJ3bwlwxX
https://dl.doubtnut.com/l/_SuIIyAqSNXh3
https://dl.doubtnut.com/l/_jQy91dyKBxGT
https://dl.doubtnut.com/l/_7l2Q4h5QE7fP
https://dl.doubtnut.com/l/_chGnV1pxfSBy

192. 2(sin6 6 + cos® 0) — 3(sin4 6 + cos* 0) QDD §<6)§30639.

o Watch Video Solution

193. (tan® + cot 8)* = sec’ 6 + cos ec’d = sec? 0 - cos ec?d 9

ABTPDON0C.

o Watch Video Solution

194, cos 6 > 0, tanf + sinf = mtanf — sinf = n,L9010A ,

m? —n? = 4,/mn SrHodk.

o Watch Video Solution

tan 160° — tan110°

195. tan20° = \ 900, S 5
1+ tan160” - tan 110

=1-)2/2\ @

ABTDON0C.

° Watch Video Solution



https://dl.doubtnut.com/l/_chGnV1pxfSBy
https://dl.doubtnut.com/l/_xnclE68pI9Ig
https://dl.doubtnut.com/l/_CzzWsSV9hksa
https://dl.doubtnut.com/l/_afi1QrsuNR0U

196.5in 75° cos 75°, tan 75° andcot 75 ° 3303) AeNID §<6)§30&9.

° Watch Video Solution

) 4
197. cos A = TRE sin B = = 0 < A, B < 90°0a0d, sin(A4 + B)Jend

S08)0d.

o Watch Video Solution

198. sin’ <52%) — sin? (22%) = (v3+1) /4y/2 9] Q8050

° Watch Video Solution

199.tan 70° — tan20° = 2tan 50° €9 ABEPD0NS0c.

° Watch Video Solution



https://dl.doubtnut.com/l/_afi1QrsuNR0U
https://dl.doubtnut.com/l/_oUgy7WIEQzUR
https://dl.doubtnut.com/l/_HNMfQutnmpoR
https://dl.doubtnut.com/l/_IaF5veXARv5M
https://dl.doubtnut.com/l/_TtYT9nqzPZ16
https://dl.doubtnut.com/l/_0xx8NboGDLQI

200.4 + B = %eﬂooaé, (1 + tan A)(1 + tan B) = 2

° Watch Video Solution

201.A + B = %@0})@, (cot A — 1)(cot B — 1) = 290 QB0050¢%.

° Watch Video Solution

1 1
202.sina = ——sin 8 = —, a,BeD OPD Seroonsd a + B = % 9

/10 V5
SH0C.

° Watch Video Solution

12 3
203.s5in A = 1—3,cos B = 5 A, B B0 30¢5¢3 | 50 SEB,A + B O

506’ &0 &6)%‘60&9.

° Watch Video Solution



https://dl.doubtnut.com/l/_0xx8NboGDLQI
https://dl.doubtnut.com/l/_RJgsG5jw1RJd
https://dl.doubtnut.com/l/_sNiA6XqAohzB
https://dl.doubtnut.com/l/_lOINVvjGgmcK
https://dl.doubtnut.com/l/_ZyB3yZqSGmIW

204.tan A zmoe)es‘ta,n(% v A) 3.

° Watch Video Solution

205. cot A HroeS cot (% + A) Q §c‘\’D§‘&O&9.

° Watch Video Solution

9° in9°
206, S50 TSIk 369 09 Q0508
cos9” —sin9

° Watch Video Solution

207.cos 42° + cos 78° + cos 162° = 0 93 APD0s.

° Watch Video Solution

208. \/3sinf + cos O 2.5 Seede sine P égbéaﬁoc%.

[ o


https://dl.doubtnut.com/l/_ZyB3yZqSGmIW
https://dl.doubtnut.com/l/_9Z6jDljPXEa1
https://dl.doubtnut.com/l/_W6sxyczJrw67
https://dl.doubtnut.com/l/_WGS7VkDYuaBq
https://dl.doubtnut.com/l/_kK7O4KRFxekK

[ @ Watch Video Solution J

3
209. sin” # + sin® (0 + %) + sin® («9 — g) =3 29 N0,

° Watch Video Solution

210. A, B, Cov &5 §2bz08 Semen e, S¢S ae o v 1.

tanA +tan B + tan(C = tan Atan BtanC

° Watch Video Solution

211. A, B, Cov o¥ D080 Smen i, S S ey - v 2

cot A cot B + cot Bcot C + cot Ccot A = 1 €98 QBTPD0N06.

° Watch Video Solution

212. ABC 82923085 cot A + cot B + cot C' = /3 900083, ABC 258 De0eeT0

63502200 SFD0G


https://dl.doubtnut.com/l/_kK7O4KRFxekK
https://dl.doubtnut.com/l/_N1L9lYCYEyS3
https://dl.doubtnut.com/l/_jeIrHyKdcS4j
https://dl.doubtnut.com/l/_2zYfDoWfj7iA
https://dl.doubtnut.com/l/_SsI17A28Ty6k

° Watch Video Solution

1
213.5in 22 <§> DeNI D §<6)§‘&o<f9.

o Watch Video Solution

1
214. cos 22 (5) QENIOD &ﬁfs‘g)o&g.

° Watch Video Solution

1
215. tan 22 (§> DRI §<§)‘é‘2}0&9.

o Watch Video Solution

1
216. cot 22 (5) QNI m)?&o&.

° Watch Video Solution



https://dl.doubtnut.com/l/_SsI17A28Ty6k
https://dl.doubtnut.com/l/_Qm1hvT6wxBKI
https://dl.doubtnut.com/l/_kZwoaJ8Pcsql
https://dl.doubtnut.com/l/_tJkicpI00ywT
https://dl.doubtnut.com/l/_U5FCe7AvukxT

1
217.208 dended 5@%‘606%. sin 67 <5>

° Watch Video Solution

218.208 JeDIOD §c63‘§‘zjo&. cos 67 (%)

o Watch Video Solution

1
219. 208 DEDVSIOD 5&%6&0&. tan 67 (5)

° Watch Video Solution

220.208 JeNJOD m%‘&o&. cot 67 (%)

o Watch Video Solution



https://dl.doubtnut.com/l/_AFV4v0evqXBW
https://dl.doubtnut.com/l/_dwdIz98xWc0p
https://dl.doubtnut.com/l/_mb3MkxpX2Kkq
https://dl.doubtnut.com/l/_ayJlkMFYbpfT

221. (1 — cos 20) / sin 205 {r§9EB0S50E.

° Watch Video Solution

222.cos A = (, /2 + 1/2\/§> 9000e3, €os 2A NN §KD%€&O&9.

° Watch Video Solution

5
223.% <60 <mecosh = — 1—3e901)@, sin 200N S’é)gzjoc?g.

° Watch Video Solution

224. Hha% PC50S R x TZ) D eI 2tanz /1 — tan” z GP)30 ?

° Watch Video Solution

E,COSO = — Eea(n)@,tam0/2&’)81)&’)8)(6) §<63g2’06?9.

225. 0
T < <32 5


https://dl.doubtnut.com/l/_xrEjIVi4MN7v
https://dl.doubtnut.com/l/_HuAilGOtVpqF
https://dl.doubtnut.com/l/_PBL8PLK6DeqP
https://dl.doubtnut.com/l/_GcMIjUWkN9VW
https://dl.doubtnut.com/l/_Ai8tZspBi3XW

° Watch Video Solution

226.A 938 %zqygoog (63250 €S 1. tan A + cot A = 2 cos ec2A

° Watch Video Solution

227. A 936 %ngog He3250 XSS, 2. cot A — tan A = 2cot 24

° Watch Video Solution

228. 0 93O % Urgros Hedeso K53,

tan@ + 2tan 20 + 4tan 460 + 8 cot 80 = cot 09 AEPN0L06%.

° Watch Video Solution

1
229. A € R 900, sin A - sin(60 + A)sin(60 — A) = Zsin3A

° Watch Video Solution



https://dl.doubtnut.com/l/_Ai8tZspBi3XW
https://dl.doubtnut.com/l/_3d0dye6Y8qw3
https://dl.doubtnut.com/l/_JqXmYGFYnx2J
https://dl.doubtnut.com/l/_XHnKeRlT2qUo
https://dl.doubtnut.com/l/_kf7Qp9l62yTL

1
230. A € R 90w, cos A - cos(60 + A)cos(60 — A) = 708 3A ed

AEEN0D SN0

° Watch Video Solution

1
C0;”cos27r/9cos37r/9cos47r/9 = —

231. A € R e902093, 16

° Watch Video Solution

232. 3A N % g 23 tHedeso %50,
tan A - tan(60 + A) - tan(60 — A) = tan34 ©d IErH0D ST

tan 6°tan 42° tan 66° tan 78° QeNdD §<63‘§‘&o&,.

° Watch Video Solution



https://dl.doubtnut.com/l/_kf7Qp9l62yTL
https://dl.doubtnut.com/l/_iUQ9bWdVnMri
https://dl.doubtnut.com/l/_1Atp2U6qPREc
https://dl.doubtnut.com/l/_b0Vhk3f7o9cY

233, o, ER 900008,

(cosa + cos B)? + (sina + sin B)% = 4cos?(a — B) /2099 AEFDOS0E.

° Watch Video Solution

234. a3, b, c e ré?@‘ééé YD DOYP§, acos b + bsing = c3NEBER D3

S a, B e oS 1.sina + sin B = 2bc/a® + b

° Watch Video Solution

235.a, b, c e» @3&?6 YD DOPED, acosd + bsing = c3NEBER D3

S @, B e oD 2.sina - sin B = & — a? /a? + b 9D SrH0d.

° Watch Video Solution

1
236. 093D % D B0 T, cosh # — 3 €9000899))¢&

sin @ + sin 260

= tan 69 QBFN0S0C%.
1 + cos 8 + cos 260

[ - |


https://dl.doubtnut.com/l/_jxDRMJsadCbY
https://dl.doubtnut.com/l/_qO2nYlpTGLKE
https://dl.doubtnut.com/l/_UAtnNIdpWeEw
https://dl.doubtnut.com/l/_1dzipnQzm2yx

| @J Watch Video Solution

3
237. sin47r/8+sin437r/8—|—sin457r/8+sin477r/8:5 O}

QBTN 0.

° Watch Video Solution

238. 2A, 3A en % AR Hedeen SR le

tan3Atan24tan A = tan3A4 — tan2A4 — tan A €98 523 0N,

° Watch Video Solution

5-—-1
239.5in78° + cos 132° = \/—4 29 APNOH.

o Watch Video Solution

1
240.5in21°cos 9° — cos 84°cos6° = 1 29 PR,

| o= ]


https://dl.doubtnut.com/l/_1dzipnQzm2yx
https://dl.doubtnut.com/l/_vp9R2ONVrR7h
https://dl.doubtnut.com/l/_E0V1HjHmryM6
https://dl.doubtnut.com/l/_niTWvVWZhX7S
https://dl.doubtnut.com/l/_sxUjSKxPDoH9

l & Watch Video Solution

241.5in34° + cos 64° — cos4° QeI §c63€&0(39.

° Watch Video Solution

3
242. cos> 76° + cos? 16° — cos 76° cos 16° = 1 29 PN 0H.

° Watch Video Solution

. . sin(z — y)
243.a0 # 0 # b,sinx + siny = a,cos  + cosy = b 90N 1) —
QeSS a, b @é?é)‘é‘z}oc%.

o Watch Video Solution
o o o o 1 (V4
244.c0s12° + cos 84" + cos132° + cos156° = — — €9 PNO0H.

2

o Watch Video Solution



https://dl.doubtnut.com/l/_sxUjSKxPDoH9
https://dl.doubtnut.com/l/_B1VdQelZWOot
https://dl.doubtnut.com/l/_EFUTYJuBns6d
https://dl.doubtnut.com/l/_3pc5KCRLQjTY
https://dl.doubtnut.com/l/_0V0BGFJkgxR7

245, 2D R s,
4sin50 /2cos 30 /2 cos 30 = sinf — sin 26 + sin46 + sin 760 (O}
WP0R.

° Watch Video Solution

246. A, B, A+BoS 98 n8 Qrgos DedB0 DS,

1 — cos A + cos B — cos(A + B)

= tan A /2cot A /2 9] °HOC.
1+ cos A — cos B — cos(A + B) and/2cot A/

° Watch Video Solution

o ) oo ) oo ) -5
247. « € R 3, cos (a 1 -+ cos a—|—12 cos“| o B 5

29 APNO0R.

° Watch Video Solution



https://dl.doubtnut.com/l/_0V0BGFJkgxR7
https://dl.doubtnut.com/l/_XCw2VS4l9FE3
https://dl.doubtnut.com/l/_9tF7Pm1hwJn3
https://dl.doubtnut.com/l/_ecvScs41VnGC

248. A, B, C en &ghe Srroond, 08 B AEEHOoS0d. 1.

sin2A4 + sin2B + sin2C = 4sin Asin BsinC

° Watch Video Solution

249. A, B, C e 20z Swroons, 08 3 AEEDoN0R. 2.

sin2A4 + sin2B — sin2C = 4 cos A cos BsinC

° Watch Video Solution

250. A, B, C o0 &zba Srroond, 08 3 ArDoH0d. 1.

cos 2A + cos 2B + cos2C = — 4cos Acos BcosC — 1

° Watch Video Solution

251. A, B, C en &ghas Srroond, 208 :Bd d8rDoSod. 2.

cos 2A + cos 2B — cos2C = 1 — 4sin Asin Bcos C

| e |


https://dl.doubtnut.com/l/_BjY3OFfdJiDa
https://dl.doubtnut.com/l/_2bfrGJk61ySe
https://dl.doubtnut.com/l/_qt8cTTRQMc2k
https://dl.doubtnut.com/l/_mq9UArwZkuqx

| & Watch Video Solution I

252, A, B, C en @&gha Srroond, 08 B AEEDOoS0d. 1.

sinA + sinB + sinC = 4cos A /2cos B/2cos C /2

° Watch Video Solution

253. A, B, C en @gha Srroond, 08 B AEEDOS0d. 1.

cos A+ cosB+cosC =1+4sinA/2sinB/2sinC /2

° Watch Video Solution

254. A+ B+ C = %eacm@ 1. Sin*(2)A +sin(2)B +sin™(2)C = 1-2 sin A

sinB sinC’

° Watch Video Solution



https://dl.doubtnut.com/l/_mq9UArwZkuqx
https://dl.doubtnut.com/l/_7AJA3Rhyshan
https://dl.doubtnut.com/l/_9Yf6ybKST28J
https://dl.doubtnut.com/l/_OJoK72i6eKaP

T
255.A+ B+ C = 5890)0@ 2. sin 2A +sin 2B +sin 2C = 4 cos A cos B cos

C' 9 PN0H.

° Watch Video Solution

256.A + B+ C = 371'/2&901)5,c052A+c052B+cos 2C=1-4sin AsinB

sin C' 9 P008.

° Watch Video Solution

257. A, B, C e Sedes Sre 00033,
sin? A /2 4 sin? B/2 —sin® C /2 =1 — 2cos A /2cos B/2cos C /209

WPNOR.

° Watch Video Solution



https://dl.doubtnut.com/l/_pSAMoM9fdgZU
https://dl.doubtnut.com/l/_N1DKGy211fIh
https://dl.doubtnut.com/l/_a4FsoEaH5Sya

258, A, B, C e Qeles Sre 00033,
sinA/2+sinB/2+sinC/2 =1+ 4sin(r — A) /4 - sin(w — B) /4 - sin(

09 H2vd) BoHOG.

° Watch Video Solution

259, A + B+ C = 00900 ,

cos’ A + cos? B+ cos>C = 1 + 2cos A cos Bcos C 099 $H25y) S0H0b.

° Watch Video Solution

260. If A+B+C = 2S5, then

P.T

A C
cos(S — A) + cos(S — B) + cos(S — C) + cos S = 4 cos. — cos. gcos. 5

° Watch Video Solution



https://dl.doubtnut.com/l/_PUNSLTajtrau
https://dl.doubtnut.com/l/_mNLZjZtqsFKC
https://dl.doubtnut.com/l/_ZiEebtLdNiGq

